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CLOSED BOOK. Use yours and / or my Study Notes (‘cheat sheet’)
Round all decimal and percent answers to nearest 0.01 unless otherwise
indicated.

Time Limit. R 507 (Skc.ald be ey Res time JCkm
tl’\c:t

Show work, show method! Pretend teaching your 14 year old niece or
nephew. Plus, part marks are available.

Each individual question is worth two marks.

Use separate paper and attach if need more work space.
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Depreciated value = original value * annual retained value percentage¥*®"®
(exponential 1)
Price of new car with taxes = (Car total price — trade in)* tax factor L —t
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Loan amount = final price of car with taxes — down payment /
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Final New Vehicle Price = (Dealer price after eco fees, freight, options, elc = Trade in)* tax factor

Exponential Decay (depreciation) of a car’s value:
Final Value = Original Value * (1 - annual depreciation rate)™**. Original Value does not
include taxes. Eg: $30,000 * 0.85'3== = $4267.25 for 15% depreciation after 12 yrs
Monthly Loan Payment = table value + Mrm“f;imwm
Overall Cost of Car = Total Loan Pnyrmnﬁts + Down Payment
Interest Paid = Total Loan Amount Paid Back - Amount Borrowed




1. Statistics. Calculate the mean, median, mode, and range of the

following sets of data.

a8 {3, 7,22 15,4}

52":' Mean: 5,5’

‘?{_EMedian:( 2_5 |

Mode:

LS MOre (Cow moh
most prcautu

dcte F-‘-'Juf_
15 -3

33 “5”; g

b. {6.3.8.2 7.5 4.1. 1.6, 10.3, 3.5)

— G g e

Mean:

Median: 5{’ _-Lg‘

. IU

A
Mode: i

= ho Solullon

Range: Xmax~ X,, . = ”-fa_'}.'; =%

Q0O ®
R4 el

Glenlate i}g)’?féfﬂ 3¢
4“” = lf-?wan't ‘fl.&“g(&'tph Uc._lu..g l




Do question 2 or 3, not both. If you do both the better will be
marked

!
2. Weighted Mean. Eva has the following marks on her first four quizzes. {' e
67%, 78%, 62% and 84%. On her Final Exam though she ‘threw it under
the bus’ and got a 35%. To pass the course she needs at least a 70%. I l,l X II iﬂ‘- N-Ll

The Final Exam had a weight factor of three times that of any quiz.

—2 a. determine Eva’s mu&se average (mean mark) before the Final
6

Exam. ,-.I- 5 =
b. determine?r' va's course average (weighted mean) after the Final ﬁ] X - 2‘7‘:—_ aﬁ IZ"— }&‘45
Exam. m Lf-

c. Eva needs a course average of at least 70% to pass, determine the
mark she would have needed on the Final Exam to get that bare
minimum /0% course average.
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Do question 2 or 3, not both. If you do both the better will be
marked

3. Percentile Rank. Karen is applying for admission to a prestigious
course for college. There are 320 people trying to get onto the course.
The College only accepts the top 25% of applicants based on an
admissions test. Karen gets a score of 67 out of 80 on the test. There % ! "
were 280 people that had a score lower than Karen's. Karen and three
others had the same test score of 67. \|’
B+ '12(5} « 100

a. Determine Karen's Test score as a percentage PR = el -
.- n

Egua.'

b. Determine Karen's Percentile Rank N {otel #

c. sketch a simple diagram that explains the situation and explain iif
she will be accepted on to the course.
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4. Problem Solve. Eight years ago, | was half my mom’'s age. | am 26
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4. Problem Solve. Eight years ago, | was half my mom'’s age. | am 26

now. How old is my mom today'? O C;J
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BONUS QUESTIONS (one mark each individual question)

1. A new car originally sold for $52,000. It depreciates year after year at a

rele oz yearalleryeet:  loses A3%=) Jeep F1%

a. Determine the value of the car after 8 years using the formula.

b. State how many years (give or take half a year) will the car be
worth $30,000. (‘State’ means not necessary to show work)
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BONUS QUESTIONS (one mark each individual question)

1. A new car originally sold for $52,000. It depreciates year after year at a

rele oz yearalleryeet:  loses A3%=) Jeep F1%

a. Determine the value of the car after 8 years using the formula.

b. State how many years (give or take half a year) will the car be
worth $30,000. (‘State’ means not necessary to show work)
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2. The car you bought sells for $54,000. You trade in your older car and
the dealer gives you $2,500 for it. Then the dealer applies the 7% PST and
the 5% GST. So, then you give the dealer $2,600 as a down payment and
arrange a loan for the remaining balance owing. The loan is at 15% for 7
years. (Use an App or website if you know how. If you use an App or

website given a hand-drawn screen shot)

a. Determine the monthly loan payment.
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Interest
Rate

Years to Repay Loan

V?\an{l\l; poﬂmen{

1 2 3 4 5 6 7

4.00%

N

$85.15| $43.42| $29.52| $22.58| $18.42| $15.65| $13.67

$85.26| $43.54| $29.64| $22.69| $18.53| $15.76| $13.78
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$90.26| 548.49| 534.67| $27.83| 523.79| $21.15] $19.30

$92.63| $50.90| 537.16| $30.43| $26.49) 523.95| $22.21

$95.04| $53.37| 5$39.76| $33.16| $29.35| $26.94| $25.31



2. The car you bought sells for $54,000. You trade in your older car and
the dealer gives you $2,500 for it. Then the dealer applies the 7% PST and
the 5% GST. So, then you give the dealer $2,600 as a down payment and
arrange a loan for the remaining balance owing. The loan is at 15% for 7
years. (Use an App or website if you know how. If you use an App or
website given a hand-drawn screen shot)

b. Determine your monthly payments if you had gottenamore v, | ave o
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